MANATEE COUNTY GOVERNMENT INTENT TO AWARD

SUBJECT	Wares Creek Pedestrian Bridge Replacement	DATE POSTED	MC <u>185E</u> 2/18/16 DS <u>185E</u> 2/18/16 CC <u>N/A</u>
PURCHASING REPRESENTATIVE	Chris Daley, CPPO CPPB 749-3048	DATE CONTRACT SHALL BE AWARDED	even days after the date Posted
DEPARTMENT	Public Works/ Ricardo Colon	CONSEQUENCES IF DEFERRED	Delay in project
SOLICITATION	IFB #16-1034CD	AUTHORIZED BY DATE	Melissa Wendel, CPPO February 2016
	NOTICE OF	INTENT TO AWARD	
	tation for Bid # 16-1034CD), Wares Creek Pedestrian Bridge for a total bid of \$549,340.00 (July 1	
Sporioible blader, Bodgias 11.		AND DESCRIPTION OF THE PROPERTY OF THE PROPERT	o, zoro compiction).
		GULATING AUTHORITY	
Federal/State law(s), admin		y Comp Plan/Land Development Code, or	dinances, resolutions, policy.
	Manatee Co	ounty Code of Laws	
	BACKGRO	OUND/DISCUSSION	
Collier County Douglas N. Higgins, Inc. Lee County Zep Construction, Inc. Kelly Brothers, Inc. Bay County Inland Construction & E	\$519,589 \$529,495	.00 0.46 5.26	
Gorioti dottori di L	Engineering, Inc. \$547,573	5.40	
Manatee County Woodruff & Sons, Inc.	engineering, Inc. \$547,573 \$557,632		
Manatee County Woodruff & Sons, Inc. On February 18, 2016 Douglas n. Higgins, Inc.	\$557,632 a memorandum was receiv of Ann Arbor, MI for a total b	2.61 yed from the Public Works Departo oid amount of \$487,751.00 with com	pletion by July 15, 2016
 Manatee County Woodruff & Sons, Inc. On February 18, 2016 Douglas n. Higgins, Inc. Funding for this project 	\$557,632 a memorandum was receiv of Ann Arbor, MI for a total b	2.61 ved from the Public Works Departooid amount of \$487,751.00 with comer Capital Improvements in the bu	pletion by July 15, 2016
 Manatee County Woodruff & Sons, Inc. On February 18, 2016 Douglas n. Higgins, Inc. Funding for this project 	\$557,632 a memorandum was receiv of Ann Arbor, MI for a total b ot is provided by Stormwate	2.61 ved from the Public Works Departooid amount of \$487,751.00 with comer Capital Improvements in the bu	Wares Creek ROW Acquisition: 4656028801 534000/ 6028801-0004

MEMORANDUM

To:

Melissa M. Wendel, CPPO, Purchasing Official

From:

Jeff Streitmatter III, P. E., Project Management

Division Manager

Date:

February 17, 2016

Subject:

Wares Creek Pedestrian Bridges Replacement within

the Bradenton Tropical Palms Mobile Home Park

located in the City of Bradenton, FL

Douglas N. Higgins, Inc.

Recommendation for Award - IFB#16-1034CD

The bids for the above referenced project have been reviewed by staff. The bid tabulation form is attached for your review. It is recommended that the contract, with a construction time of 137 calendars days be awarded to the lowest responsive, responsible bidder, Douglas N. Higgins, Inc. in the amount of \$487,751.00 and in accordance with the terms and conditions of the bid package. Upon completion of project award, please provide a copy of the purchase order assigned to the contractor. The funding source for this contract is Stormwater Capital Improvements.

Please contact Ricardo J Colon, PE, Project Manager if you have any questions regarding the attached documents.

Thank you for your continued assistance.

JS/rc

CC:

Mike Gore, Director, Utilities

Ron Schulhofer, Director, Public Works

Sia Mollanazar, P.E., Deputy Director, Engineering Services

Ricardo J Colon, PE, Project Manager

Prony Bonnaire Fils, Engineering Specialist II, w/attachments

Project File: 6028801 9.2

Public Works Department Project Mänagement Division 1022 26th Avenue East, Bradenton, FL 34208-3926 Phone number: (941) 708-7450

TABULATION IFB #16-1034CD- WARES CREEK PEDESTRIAN BRIDGE REPLACEMENT

											Inland Construc	tion &
					Douglas N. Higg	ins, inc.	Zep Construction, Inc. Kelly Brothe		Kelly Brothers, I	inc.	Engineering, Inc.	
					3390 Travis Poir	nt Rd. Ste. A	7802 Jean Blvd. 15775 Pine Ridge Ro			re Road	309 East 11th Street	
					Ann Harbor, Mi	48108	Fort Myers, FL 3	3967	Fort Myers, FL 33908		panama City, FL 32401	
TEM	FDOT Item	To, 100 db, 400, 400 ft 100 1000 400 h h	EST.	13/00	BID PRICE	TOTAL BID	BID PRICE	TOTAL BID	BID PRICE TOTAL BID		BID PRICE	TOTALBID
NO.	No.	DESCRIPTION	QTY.	LATER	PER UNIT (\$)	PRICE (\$)	PER UNIT (\$)	PRICE (\$)	PER UNIT (\$)	PRICE (\$)	PER UNIT (\$)	PRICE(\$)
1	101-1	Mobilization	1.00	LS	\$43,000.00	\$43,000.00 J	\$42,000.00	\$42,000.00	\$68,780.74	\$88,780.74	\$50,000.00	\$50,000.00
2	102-1	Maintenance of Traffic	1.00	LS	\$12,000.00	\$12,000.00 -	\$8,500.00	\$8,500.00	\$7,358.91	\$7,356.91	\$5,000.00	\$5,000.00
3	104-11	Floating Turbidity Barrier	220.00	LF	\$15.00		\$50.00		\$7.05	\$1,551.00	\$16.00	\$3,520.00
4	104-10-3	Staked Silt Fence (Type III)	590.00	LF	\$3.00	\$1,770.00 ✓	\$6.00	\$3,540.00	\$2.99	\$1,764.10	\$9.00	\$5,310.00
5	110-1-1	Clearing and Grubbing	1.00	LS	\$42,000.00	\$42,000.00 \	\$42,000.00	\$42,000.00	\$13,263.23	\$13,263.23	\$31,169.00	\$31,169.00
6	120-1	Regular Excavation	40.00	CY	\$70.00	\$2,800.00 🗸	\$290.00	\$11,600.00	\$389.92	\$15,596.80	\$35.00	\$1,400.00
7	120-2-2	Borrow Excavation, Truck Measure	75.00	CY	\$80.00	\$6,000.00 🗸	\$160.00	\$12,000.00	\$211.88	\$15,891.00	\$85.00	\$8,375.00
8	400-2-5	Class II Concrete	82.00	CY	\$650.00	\$53,300.00 🗸	\$1,315.00	\$107,830.00	\$1,458.55	\$119,601.10	\$700.00	\$57,400.00
9	460-5	Prefabricated Aluminum Pedestrian Bridges	1.00	LS	\$227,000.00	\$227,000.00	\$140,000.00	\$140,000.00	\$145,582.86	\$145,582.86	\$205,000.00	\$205,000.00
10	500-72	Handrail Aluminum (Remove and Re-Install)	52.00	UF	\$70.00	\$3,640.00 🗸	\$63.40	\$3,296.80	\$45.20	\$2,350.40	\$75.00	\$3,900.00
11	515-2-231	Pedestrian/Bicycle Railing	185.00	LF	\$100.00	\$18,500.00 /	\$166.65	\$30,830.25	\$125.57	\$23,230.45	\$427.00	\$78,995.00
12	522-1	Concrete Sidewalk and Driveways, 4" Thick	95.00	SY	\$60.00	\$5,700.00 ~	\$115.00	\$10,925.00	\$236.54	\$22,471.30	\$95.00	\$9,025.00
13	530-3-3	Rip-Rap Rubble	110.00	TN	\$160.00	\$17,600.00 /	\$350.00	\$38,500.00	\$233.32	\$25,665.20	\$250.00	\$27,500.00
14	570-1-2	Performance Turf, Sod	400.00	SY	\$4.00	\$1,600.00 ~/	\$3.90	\$1,560.00	\$8.75 \$3,500.00		\$8.00	\$3,200.00
15	1060-11-211	Utility Structure- Below Ground	1.00	EA	\$5,200.00	\$5,200.00 🗸	\$8,772.00	\$8,772.00	\$14,754.24	\$14,754.24	\$10,000.00	\$10,000.00
		TOTAL BASE BID - Based on		-		9442 440 00		0473 3E4 0E		2404 250 22		0407 704 00
		Completion of Work by July 15, 2016				\$443,410.00		\$472,354.05		\$481,359.33		\$497,794.00
		CONTRACT CONTINGENCY WORK	10%	OF		V						
16	C. Sept.	(USED ONLY WITH COUNTY TOTAL BASE			\$44,341.00	5	\$47,235.41		\$48,135.93		\$49,779.40	
	Participation of the Control of the	APPROVAL) BID										
		TOTAL OFFER with Contract Contingency -		A CONTRACTOR OF THE PARTY OF TH	V							
		Based on Completion of Work by July	15.			\$487,751.00		\$519,589.46		\$529,495.28		\$547,673.40
	CONTRACTOR CANADA	2016										
Acknowledge Addendum #1					Yes		Yes		Yes		Yes	
Acknowledge Addendum #2					Yes		Yes		Yes		NO	
	Acknowledge Addendum #3					Yes		Yes		Yes		No
Bid Bond					Yes		Yes		Yes		Y 85	

eyed	0,081	
By:	Uff	2/12/2016
Chris D	aley-CPPO, CPPB, Contract Specials	Date
Checked an Reviewed B	The second second	2/17/16
4	R.J. Ezari, PE-AECOM, Engineer or Record	Date
Checked an Reviewed B		2/17/14
	Ricardo Colon, PE-Pipject Manager	Date
	\	

TABULATION IFB #16-1034CD- WARES CREEK PEDESTRIAN BRIDGE REPLACEMENT

Woodruff & Sons, Inc. P.O. Box 10127 Bradenton, FL 34282

			A STATE OF THE PARTY OF THE PAR	-	brademon, FL 3	72.02	
ITEM NO.	FDOT Item No.	DESCRIPTION	UAM	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)		
1	101-1	Mobilization	1.00	LS	\$49,842.22	\$49,842.22	
2	102-1	Maintenance of Traffic	1.00	LS	\$8,381.03	\$8,381.03	
3	104-11	Floating Turbidity Barrier	220.00	LF	\$17.23	\$3,790.60	
4	104-10-3	Staked Sill Fence (Type III)	590.00	LF	\$3.64	\$2,147.60	
5	110-1-1	Clearing and Grubbing	1.00	LS	\$37,239.40	\$37,239.40	
6	120-1	Regular Excavation	40.00	CY	\$61.26	\$2,450.40	
7	120-2-2	Borrow Excavation, Truck Measure	75.00	CY	\$88.43	\$6,632.25	
B	400-2-5	Class II Concrete	82,00	CY	\$1,351.26	\$110,803.32	
9	460-5	Prefabricated Aluminum Pedestrian Bridges	1,00	LS	\$150,329.27	\$150,329.27	
10	500-72	Handrail Aluminum (Remove and Re-Install)	52.00	LF	\$53,48	\$2,780.96	
11	515-2-231	Pedestrian/Bicycle Railing	185.00	LF	\$140.70	\$26,029.50	
12	522-1	Concrete Sidewalk and Driveways, 4" Thick	95.00	SY	\$90.24	\$8,572.80	
13	530-3-3	Rip-Rap Rubble	110.00	TN	\$759.33	\$83,526.30	
14	570-1-2	Performance Turf, Sod	400.00	SY	\$10.27	\$4,108.00	
15	1060-11-211	Utility Structure- Below Ground	1.00	EA	\$10,305.09	\$10,305.09	
	A STATE OF THE PARTY OF THE PAR	TOTAL BASE BID - Based on				GEDC 636 74	
		Completion of Work by July 15, 2016				\$506,938.74	
		CONTRACT CONTINGENCY WORK	10%	OF			
16		(USED ONLY WITH COUNTY	TOTAL	BASE		\$50,693.87	
all care		APPROVAL)	BID				
		TOTAL OFFER with Contract Continge	ency -		MEAN DESCRIPTION OF THE PARTY O		
i i		Based on Completion of Work by July	15,			\$557,632.61	
2016							
Acknowledge Addendum \$1							
Acknowledge Addendum #2							
Acknowledge Addendum \$3						Yes	
A COMMUNICATION	Bid Bond		and the second second second			Yes	
the second secon							

	PLAT COLOUR		
eyed By:		PIAL	2/12/2016
	Chris Dale	y-CPPO, CPPB, Contract Specialsi	Date
_	ecked and iewed By:	# C33.	2/17/16
		R.J. Ezezi, P.A. ARCOM, Engineer or Record	Date
	ecked and lewed By:	M Km)	2/12/10
		Ricardo Colon, PE\Project Manager	Date
		\	